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II-110

9,085 98 9,183 0.4% 75,629 278 75,907 3.29
17,939 24,234 42,171 1.7% 26,654 12,479 39,124 1.69
246,014 0] 246,019 9.7% 223,644 0] 223,644 9.49
104,444 0] 104,444 4.1% 74,894 0 74,894 3.19
o] 127,811 127,811 5.0% 0] 102,441 102,447 4.39

0 42,457 42,457 1.7% 0 17,419 17,419 0.79
377,489 194,604 572,089 22.4% 400,824 132,613 533,437 22.49
145,014 12] 145,024 5.7% 149,644 0] 149,644 6.39
258,610 469,289 727,899 28.6% 154,660 452,100 606,76( 25.59
25,760 0 25,764 1.0% 7,143 0 7,143 0.39
842,731 39,550 882,287 34.6% 803,034 38,129 841,169 35.49
1,807 193,691 195,499 7.7% 1,013 239,779 240,799 10.19

0 0 0 0.0% 0 0 0 0.09
1,273,92 702,542 1,976.47 77.6% 1,115,49 730,008 1,845,504 77.69
1,651,41 897,146 2,548,55 100.0% 1,516,32 862,621 2,378,941 100.09
23,459 0 23,459 1.3% 18,879 399 19,279 1.09
43 89,324 89,369 4.9% 80 56,031 56,117 3.09

98 0 98 0.0% 94 0 94 0.0Y
194,484 0] 194,484 10.6% 209,604 0] 209,604 11.29
O] 139,812 139,817 7.6% 0] 113,149 113,149 6.19

0 82 82 0.0% 0 0 0 0.09
218,078 229,220 447,299 24.3% 228,651 169,579 398,237 21.49
47,609 8 47,611 2.6% 42,949 32 42 9771 2.39
102,619 518,213 620,829 33.8% 97,264 480,133 577,401 31.09
14,984 5,626 20,614 1.1% 14,054 14,891 28,941 1.69
369,201 112,123 481,324 26.2% 369,942 133,447 503,384 27.09
11) 193,616 193,621 10.5% 0] 267,403 267,407 14.39
15,409 12,681 28,090 1.5% 18,409 27,969 46,374 2.59
549,829 842,267 1,392,08 75.7% 542,618 923,87 1,466,494 78.69
767,909 1,071,487 1,839,38 100.0% 771,275 1,093,451 1,864,72 100.09
383 179 562 3.8% 0 0 0 0.09
276 5 281 1.9% 102 0 102 0.79

1 0 1 0.0% 0 0 0 0.09

0 0 0 0.0% 0 0 0 0.0Y

0 446 446 3.0% 0 0 0 0.09

0 0 0 0.0% 0 0 0 0.09

660 630 1,290 8.7% 102 0 102 0.79

9 0 9 0.1% 18 0 18 0.19

9,189 2,376 11,564 77.9% 10,494 2,183 12,671 85.89

0 0 0 0.0% 0 0 0 0.09

1,834 132 1,964 13.2% 1,669 218 1,883 12.79

0 0 0 0.0% 0 0 0 0.09

0 16 16 0.1% 0 90 90 0.69
11,034 2,524 13,554 91.3% 12,179 2,491 14,669 99.39
11,694 3,154 14,844 100.0% 12,279 2,491 14,770 100.09
32,921 277 33,194 0.8% 94,509 677 95,189 2.29
18,254 113,569 131,821 3.0% 26,831 68,504 95,341 2.29
246,119 0] 246,118 5.6% 223,73 0] 223,73§ 5.39
298,937 0] 298,937 6.8% 284,50( 0] 284,500 6.79
O] 268,069 268,064 6.1% 0] 215597 215,597 5.19

0 42,539 42,539 1.0% 0 17,419 17,419 0.49
596,223 424,454 1,020,677 23.2% 629,583 302,188 931,771 21.99
192,624 20| 192,644 4.4% 192,609 32| 192,641 4.59
370,409 989,878 1,360,287 30.9% 262,420 934,418 1,196,83 28.19
40,749 5,626 46,374 1.1% 21,199 14,891 36,090 0.89
1,213,772 151,808 1,365,577 31.0% 1,174,641 171,794 1,346,43 31.69
1,819 387,304 389,124 8.8% 1,013 507,181 508,194 11.99
15,409 12,691 28,104 0.6% 18,409 28,059 46,469 1.19
1,834,782 1,547,338 3,382,11 76.8% 1,670,291 1,656,37% 3,326,66 78.19
2,431,00% 1,971,787 4,402,792 100.0% 2,299,874 1,958,568 4,258,437 100.09
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I-111

118,924 376 119,300 1.3% 118,639 206 118,844 1.49
11,163 50,491 61,660 0.7% 17,864 60,8071 78,669 0.99
781,669 0 781,669 8.4% 709,404 0 709,406 8.6Y
0 0 0 0.0% 0 0 0 0.09
2,281,72 43,514 2,325,237 25.0% 2,072,667 43,464 2,116,131 25.59
0 6,309 6,309 0.1% 0 7,984 7,984 0.19
0 55,623 55,623 0.6% 0 37,794 37,796 0.59
9,070 14,849 23,919 0.3% 3,229 243,464 246,69( 3.09
3,202,54 171,168 3,373,716 26.6% 2,921,799 393,722 3,315,521 28.69
204,939 69,924 274,864 3.0% 159,634 56,685 216,321 2.69
126,260 639,641 765,901 8.2% 109,459 522,174 631,634 7.6Y
238,547 32,669 271,217 2.9% 302,971 27,023 329,994 4.09
0 0 0 0.0% 0 0 0 0.09
6,166,227 230,633 6,396,860 68.7% 5,231,221 262,816 5,494,037 66.29
1,985 618,491 620,476 6.7% 2,402 717,687 720,084 8.7Y%
1,594 128,731 130,324 1.4% 0 211,054 211,054 2.5Y
182,169 674,114 856,281 9.2% 113,174 577,547 690,719 8.39
6,921,712 2,394,207 9,315,919 73.4% 5,918,862 2,374,981 8,293,843 71.49
10,124,260 2,565,375 12,689,635 100% 8,840,661 2,768,703 11,609,364 100.09
28,764 38 28,807 0.9% 17,729 0 17,729 0.89
354 606 960 0.0% 493 815 1,308 0.19
9,808 0 9,804 0.3% 6,100 0 6,10d 0.39
0 0 0 0.0% 0 0 0 0.0Y
755,789 737 756,526 22.7% 661,824 537 662,361 31.09
0 23,154 23,158 0.7% 0 14,062 14,067 0.79
0 68,554 68,558 2.1% 0 52,844 52,844 2.59
0 0 0 0.0% 0 63,2871 63,281 3.09
794,719 93,091 887,814 21.1% 686,144 131,549 817,693 27.79
30,631 25,754 56,381 1.7% 16,825 14,364 31,189 1.59
4,165 504,987 509,141 15.3% 829| 289,644 290,473 13.69
179,423 212,749 392,172 11.89 167,284 160,999 328,280 15.49
0 0 0 0.0% 0 0 0 0.09
1,465,542 189,589 1,655,131 49.89 872,524 89,70( 962,226 45.09
0 394,854 394,854 11.9% 0 270,773 270,773 12.79
0 193,844 193,844 5.8% 0 159,510 159,510 7.5Y
76,071 48,603 124,680 3.7% 60,944 32,914 93,854 4.49
1,755,838 1,570,379 3,326,217 78.9% 1,118,411 1,017,894 2,136,30% 72.39
2,550,553 1,663,476 4,214,02 100% 1,804,557 1,149,441 2,953,998 25.49
148,157 1,017 149,164 3.5% 136,361 411 136,774 3.39
11,5179 51,103 62,620 1.5% 18,359 61,627 79,971 1.99
791,476 0 791,476 18.6% 715,504 0 715,506 17.39
0 0 0 0.0% 0 0 0 0.09
3,037,512 44,251 3,081,768 72.3% 2,734,491 44,000 2,778,492 67.29
0 29,461 29,461 0.7% 0 22,041 22,041 0.59
0 124,547 124,547 2.9% 0 90,652 90,652 2.29
11,173 14,867 26,044 0.6% 5,202 306,751 311,957 7.59
3,999,83 265,244 4,265,077 25.2% 3,609,92 525,484 4,135,40% 28.39
238,141 95,687 333,823 2.6% 179,049 71,049 250,091 2.49
130,489 1,144,76 1,275,248 10.1% 110,319 811,874 922,184 8.8Y
417,966 245,419 663,384 5.2% 470,258 188,016 658,274 6.39
0 0 0 0.0% 0 0 0 0.0Y
7,645,074 425,264 8,070,340 63.7% 6,117,651 354,928 6,472,579 61.89
1,989 1,019,33% 1,021,32 8.1% 2,402 1,001,107 1,003,509 9.69
1,594 322,571 324,171 2.6% 0 370,564 370,564 3.59
260,524 722,827 983,354 7.8% 177,332 610,561 787,899 7.59
8,695,772 3,975,868 12,671,640 74.8% 7,057,001 3,408,10% 10,465,106 71.79
12,695,60P 4,241,11% 16,936,71Y 100% 10,666,929 3,933,589 14,600,511 100.09
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